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e (i) W e st Eod vew el SE A E |
|
Note : All Questions are compulsory and each question is of 1 mark.
(i) 70 STt & v g1+ @i Rewfy o st sqar & e &
Only English version is valid in case of difference in both the languages.
1. IDEdaed ¥ 1.  What does IDE stands for ?
(a) Integrated Development (a) Integrated Development
Environment. Environment.
(b) Integrated Design Environment (b) Integrated Design Environment
(¢) Interior Development (¢) Interior Development
Environment Environment
(d) Interior Design Environment. (d) Interior Design Environment.
5 frr ¥ @ @4 91 fasjer wfedt IDE = 2. Which is not a main component of
T A TR &9 the Visual Studio IDE ?
(a) Solution explorer (a) Solution explorer
(b) Tool Box (b) Tool Box
(c) Start Menu (c) Start Menu
: (d) Designer Window
(d) Designer Window

(1)

P.T.O.
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3 PR A W PN A O e e
FAE W T & 7
(a) VB.Net
(b) VB6
(c) C++
d) C#

4. ForT[d & Y B ofgw
(a) Then
(b) Endfor
(c) Loop
(d) Next

5. 9 TH A9 & IR QO o dew ¥ @
U T FEAA &
(a) Nested T[4
(b) Double T
(c) Complex T[@
(d) Inside T[™

6. CLR S A5 187
(a) Common Language Reusable
(b) Common Language Runtime
(c) Common Language Real-time
(d) Common Language Recharge

7. @ P & Ry e’ & Hiwon @t S ¥ 7
(a8) Declar
(b) Show
{c) Load
(d) Dim

8 T v @ sietee R % R
FITET SR 7 H fovar T £ 0
(@) Create
(d) Direct
(€) New
(@ Import

(2)

s~
|
Zlﬁﬁ :
Which of the following languag, is
NOT true object-oriented language
(a) VB.Net
(b) VB6
(c) C++
(d) C# |

e C¥oo ooy

For loop should have
(a) Then

(b) End for

(c) Loop

(d) Next

When a loop contains another “.aop
inside it, then this type of loop is
called

(a) Nested Loop

(b) Double Loop

(¢) Complex Loop

(d) Inside Loop

What is the full name of CLR ?

(a) Common Language Reusable
(b) Common Language Runtime
(c) Common Language Real-time
(d) Common Language Recharge

Which statement is used to declare
variables ? '

(a) Declar
(b) Show
(c) Load
(d) Dim

-

Which operator is used to creat
objects of a class ?

(a) Create
(b) Direct
() New

(d) Import
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9.

10.

11.

12,

13.

14,

T TRY U HEewh &
(a) Exception

(b) Coding

(c) Indexing

(d) Mistake

A Az Ed Tm oA, e W
Wit arerT-arer ¥, & 5 W ¥

(a) Overloading

(b) Loading

(c) Multiplexing

(d) Overriding

T BT & U (R YR 1
(@) Class

(b) Variable

(¢) Method

(d) Property

T 3% BF W TR Y N F
FEF H Hiet T ?

(a) Base.New()

(b) Constructor.New()

(¢c) Baseclass.New()

(d) MyBase.New()

frdt gemw 2aw w waw dfed ©
Freef giem &

(a) File

(b) Field

(¢) Record

(d) Primary key

T eny daw ¥ e w9
g g &

(a) File

(b) Field

(¢) Record

(d) Primary key

)

10.

11.

12.

13,

14,

2166

Runtime error is known as
(a) Exception

(b) Coding

(¢) Indexing

(d) Mistake

Two methods with the same name but
with different parameters; it is called

(a) Overloading
(b) Loading

(¢) Multiplexing
(d) Over niding

A constructor is a special type of
(a) Class

(b) Variable

(c) Method

(d) Property

Which of the following statement will
call the constructor of the base class ?

(a) Base.New()

(b) Constructor.New()
(¢) Baseclass:.New()
(d) MyBase.New()

Each row in a database
represents a

(a) File

(b) Field-

(¢} Record

(d) Primary key

table

Each column of a database table
represents a

(a) File

(b) Field

(¢) Record

(d) Primary key

P.T.O.
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(5. ADO.Net ®I & &l o7 a7 57

16.

17.

18.

19.

20.

A0 & AT TR TAF WY Iy
& wEodl €

(a) Views

(b) Relations

(c) Tables

(d) Data sets

Re Dim F9 % 340 77 ° § fewd
g € ?

(a) Objected-oriented Programming
(b) Dynamic Array

(c) Static Array

(d) Inheritance

VB.Net & Must Inherit 3-8 %I SaRT
feperap fomtor o gl €2

(a) Abstract class

(b) Derived class

(c) Baseclass
(d) Private class

srar 4 f d%er #Ea € 3¢ Net
language ¥ F&1 & :

(a) Assemblies

(b) Byte code

(c) MSIL

(d) Namespace

Net § 7w+t FEel A 99 Al
Intermediate Code T & 39 Fedl & -
(a) CLR

(b) Byte code

(¢) MSIL code

(d) Namespace

VB.Net # Multiple Inheritance I
® % fordt & 3 ferar e &

(a) Interface
(b) Structure
(¢) Collection
(d) Array

4)
15.

16.

17.

18.

19.

20.

2166

Ability of ADO.Net to create and
Process in-memory database is called

(@) Views
(b) Relations
(c) Tables
(d) Data sets

The Re Dim statement is used is

(a) Objected-oriented Programming
(b) Dynamic Array

(c) Static Array

(d) Inheritance

In VB.Net must inherit key-word” is
used to construct ?

(a) Abstract class
(b) Derived class
(c) Base class
(d) Private class

The package of Java is known as in
VB.Net as :

(a) Assemblies

(b) Byte code
(¢c) MSIL
(d) Namespace

The intermediate code created when
compiling a .Net program is called ;.

(a) CLR

(b) Byte code
(c) MSIL code
(d) Namespace

To achieve Multiple inheritance in
VB.Net we use

(a) Interface

(b) Structure

(c) Collection

(d) Array
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21.

22.

23.

24.

25,

(d)

(c) Integer
Short

i R it e o Rt ¥ e

(a) Hide
(b) Show
(c) Visible
(d) Enabled

o § § @ fase =it & IDE
1 YT T2 T 5 7

(@ Solution Explorer

Tool Box

Server Menu

(b)
(c)
(d)

Designer Window

Combo chaﬁﬁaﬁﬂﬁﬁﬁﬁ
Fiet 1 e @ a8 7

(a) List Box and Text Box

(b) List Box and Input Box

(c) List Box and Message Box
(d) Label and Text Box

(5)
21,

22,

23,

24,

25.

2166

Tick() event is associated with which
control 7

(@) TextBox
(b) Button
(c) List Box
(d) Timer

Which of the following is not an
integer data type ?

(a) Single
(b) Byte
(c) Integer
(d) Short

Which of the following property
determine the appearance of the
control on the form ?

(a) Hide

(b) Show
(c) Visible
(d) Enabled

Which is not a main component of
the Visual Studio IDE ?

(a) Solution Explorer
(b) Tool Box

(c) Server Menu

(d) Designer Window

Which two controls are combined to
form the Combo Box control ?

(a) List Box and Text Box
(b) List Box and Input Box
(c) List Box and Message Box

(d) Label and Text Box
P.T.Q.
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26. ADO & QU0 94 3

27.

28.

29.

30.

(a) Advanced Data Object

(b)
(c) Active Directory Object

(d)

Active Data Object
Activex Data Object

select-Case-End Select F |
(a) B I & WA ¥

b) TFI e vt el € |
(¢) T ¥ W T & wew |

@ @ FETE

ASP.Netﬁaﬁéaﬁﬁﬁﬁrm%%ﬁﬁm
g
(a)
(b)
(c)
(d)

ASP
ASPX
HTML
HTM

forg et § ¢ oft TweT A
W FEAE

(a) Blank constructor
(b) Non-Parameter constructor
(c) Default constructor

(d) Simple constructor

7 AND #iiiet %t yge fear e &
7 T o ¥ e ke el frafart
B d - o

(a) ot v o

(b) T v WA |

(c) 1%t v vt Wt ay |

(d) e |

(6)

26.

27.

28.

29.

30.

2166
The full name of ADQ is

(a) Advanced Data Object
(b) Active Data Object

(c)
(d)

Active Directory Object
Activex Data Object

In Select-Case-End Select statemen,
we can have

(a)
(b)
()
(d)

only one condition
more than one condition
not a single condition &

None of the above

The extension of web pages written is
ASP.Net is

(a) .ASP
(b) .ASPX
(c) .HTML
(d .HTM

The constructor which does not have
any parameter is known as

(a) Blank constructor
(b) Non-Parameter constructor )

(c)
(d) Simple constructor

Default constructor

When AND operator is used, it means
the instruction will execute when

(a) All conditions are false.
(b)
(c)
(d)

All conditions are true.
Any one condition is true.
None of these.



